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| Semester B.Com. Examination, March/April 2023

(NEP) (2021-22 and Onwards) (F+R)
LANGUAGE SANSKRIT - |
Mahabharata-Yayathi Upakhyana
Grammar and Comprehensier
Time : 2% Hours x>

Max. Marks : 60

Instructions : i) Answer in Sanskrit/Kannad?
i) Q. No. I and VI should be an¥]

. s I faal
pifolovirin tmg’ddai:gt 302 2000200.
Choose the correct answer.

1) HETYRA Hidquaior ?

) e 1) grew 3) YsEeyl 3) S
2) WEIYHd UdTa=d: YeATehl: Hfd

) HEHH A1) CUEEEH, 3) W& 3) hife:
3) AMHY: T @ ?

) gl am) e 3) AT 3) THer
4) guUal HNT TS I ?

31) gaon 3) g 3) FT&ToT 3) TRt
5) WETHRA @A & Higar aftfar ?

=) sl ) s 3) I %) g
6) JoMgd FH dfeiar Hi FATlr: I ?

Jghskrit only.
(8x1=8)

) T ) wiffsa™ 3) S 3) gy
7) I e gt 7 |

3) JUIEUE ) AT 3) I 3) FEEIaH
8) reHTy foh =i ¢ _

) o, ) 7y %) SHYH %) g

P.T.O.
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II. TeRER Ty SR forEd| (1x8=8)
CIRFTRTTR Wowe TJ 1 LVTTII, WICUWO.

Answer any one question :

1) HETWRAS]: dCATES e~ -1 e fored|
Write about the place, time and works of Vedavyasa, the author of
Mahabharata.
BOTTST B, F decﬁa'%:a’d 363, O, 3 &N wrﬁq WBOND.

2) q: gl avrmE)

Describe Puru, how devoted he was to his father.
TPRTORT &%?Jﬁ Otﬁot.-ﬁgL WEIR0.

1. ga: agfeufi forgm) (2x4=8)

QUBRY B0 OF £353£3 WIOWD.

)

Write short notes on any two.

1) <o 2) gt
3) eI IM; 4) Fa: |
V. STt Vel SETE e Fgue| (4x3=12)

LR, BRLINTTY, BTOTOR LTOA.

Translate and explain any four shlokas.
¢

1) ShIS=IHT g AT g =HIaH|
IY: | I Faivae s

2) wg wlemred a1 fee geamgy: |
gfeqAifiel Hig wepIse qfan f2 71
3) TEuTal TEET A3 W ufddr S

U TegeRSTaET ST <hifaarn: g9t |
sraiseat 9 T = g 7 foesr=rEm |



(AN 5
4) 3o far o ygaq S|
wiHsgsiagaten gfest gaan: ||
5) 9 TS 4 1 A1 S g2 7 = femm)
IRVFATE Wafd a1 S AR ||
6) Sfcuce=ty o T ITHH ST 98|
TR e e = S| |

V. A 9gEl: qEed gl
QTR 98, RO BT BTN QTOX.

Explain with reference to context any two sentences.
1) %Y = YGheAT AN THGHNT|
2) @1 @ qHTE! I
3) THEEREART: 7 d |y wiasafd)
4) HaISE TEIHE gearsyfaEd: |
V1. FERaHTSET T fored|

a) USEMl YoMl HEhRd ST =l

1) 5 " 2) g 3) TR

5) ATl 6) FYT-al 7) afe-dfe
b) usmml forg - faufe - s=f forgal

1) I1fa: 2) T 3) amyq

5) wIftfsaan 6) Sl 7) SfeAehIf:

NP - 050

(2x3=6)
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VII. 39 qftesg ufdcan yeamm Iaufr forem| (4x2=8)
Sleh HeoT: o w3t fifaer s fiemd) ay dson: Freugan: wataf
ThiaTe geaf| sqde gramnfd duM faram) goin: e, g,
famafma, s, fopdfa =) fhg dW1 d@="e ¥9 9@ Wrard|
TR T flae syt wafs) s@: 9 afe geian wata gl
el | HSINATE] Hch@Md WG| qeHTg ToHIaeq Fsgl wad| FseHmI
= e wated: | geAm FRe g 3 srngEr:) feeg st ety
R BERTAT 3fd WEg:@H | WiTad: JUR0d, HsSHHH Hged-d Uil Tiad-q
g,y | 9 feead yadal
RS
1) IGAS Fgrahmfd w1 formam ?

2) go: T pafa 7
3) FsaUTET: g & wdft< ¢
4) Tfifafer er g ?




